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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. Immersed part of icberg of disease indicates
(A) Symptomatic cases (B) Presymptomatic cases
(C) Healthy population (D) Disease agents

2.  Physical quality life index is measured by

(A) Infant mortality rate (B) Life expectancy at birth
(C) Literacy rate (D) All of the above
3.  “Health is a state of dynamic equilibrium between man and his environment “ is a

(A) WHO definition of health
(B) Operational definition of health
(C) Definition of positive health

(D) Ecological definition of health

4. The organism in the body of host can multiply but can not evoke a response is
termed as
(A) In apparent infection (B) Symbiosis
(C) Infection (D) Resistance
5.  Ice berg phenamenon is seen in following disease except
(A) Hypertension (B) Diabetes
(C) Mental illness (D) Accidents
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10.

11.

Disease eradication implies
(A) Reduction of incidence of disease

(B) Termination of all transmission of infection by extermination of the infectious
agent

(C) Interruption of transmission of disease

(D) Reduction of duration of disease

Restoration of a function of body part is an example of which type of rehabilitation
(A) Medical (B) Social
(C) Psychological (D) Vocational

Which of the following events characterises the complete extension phase of family life
cycle ?

A) Marriage to birth of first child

(
(B) Birth of first child to birth of last child
(

(

~—

C) Birth of last child to first child leaves home

D) First child leaves home to last child leaves home

Which of the following deficiency is likely to occur in vegetarian diet

(A) Protein (B) Iron (C) Vit B12 (D) Calcium

Cyanosis in infant (methaemoglobinaemia ) is associated with high content of
(A) Fluoride in water (B) Nitrate in water

(C) Hardness of water (D) Chloride in water

The amount of chlorine that is needed to destroy bacteria and to oxidize all the organic
matter and ammoniacal substances present in the water is termed as

(A) Chlorine demand of water
(B) Free residual chlorine
(C) Compound chlorine

(D) Correct dose of chlorine requirment



10.

11.

T[T I T AT ¢

(A) T h! guTE He H FHH

(B) HshfHd T o e 51T A o W& HeIROT i FHIH
(C) AT & HARY 61 A I

(D) T =t fHag w0t et

IR ST % B R G (S HAT) TR TR F G hT ISR R
(A) fafeca (B) WIS (C) TR (D) ATIEIIH

freiferd & | v € s wiitenfea sie =k % qof fawam =R @t Seifed wd
(A) faamE | Yom o= & S a6

(B) TUH I % SH H MGl 9= o SH T

(C) TR o=l o S 9 JUH 9= gNI =R Bled o

(D) Y¥H o= §RI =R Bl ¥ e 9= g1 =R BIed I

Trreiferd swfdl ® § e aveafa SR 4 Hwefgd © ¢
(A) T (B) g (C) faafmst1z (D) Hafww

forgy e (Fer wenfarfien) fFa 3 sifues won & wEfEa B
(A) I H FIUES (B) @9 fage

(C) i T TEH (Hardness) (D) S T FARES

o1 H IufEerd THE Sg et 37 STHIfaTehel UeTed Rl STeRAehiol T 37X SR fREn 98 id &
foIU IR HT STETIF HIST hl FI FEd ©

(A) = = AR 7T (B) H® STENE FARN
(C) Tufsa k= (D) 3Tuferd i =t W&l GUsh
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12.  Which of the following is not a satisfactory agent for disinfection of water
(A) Bleaching powder (B) Chlorine solution

(C) lodine (D) Potassium paramagnate

13. WHO recommended water distribution system is
(A) Intermittent supply (B) Low pressure supply

(C) Continuous supply (D) Dual supply

14. Cooling power of the air depends on the following except
(A) Air temperature (B) Humidity

(C) CO, level (D) Air movement

15. For better ventilation, the optimum floor space required per person is
(A) 25-50 Sq ft (B) 51-100 Sq ft
(C) 101 - 150 Sq ft (D) 151 - 200 Sq ft

16. Door and windows facing each other provide
(A) Economy (B) Diftusion

(C) Cross ventilation (D) Safety

17. The Simultaneous control of temperature humidity and air movement within any
structure is

(A) Exhaust ventilation (B) Plenum ventilation

(C) Balanced ventilation (D) Air conditioning

18. Which of the following has highest panetrating ability
(A) Alpha particles (B) Beta particles

(C) Xrays (D) Gamma rays
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12. ST &1 31-HehfHd A & ¢ GdrosHe Toie F=iferd § 9 shiAdr & ¢
(A) SIS aREX (B) RN €A
(ORI (D) IR T

13. S UA.3L A gEdItaa foRan foh Ster farawor gomedt :
(A) gfewm sgfd (B) = e syt
(C) Had mgfd (D) &a gfd

14. g i Yideiao e fgam frgs feifea w fd =t ©
(A) < AAEE (B) 3Tr&al (C) CO, &R (D) g i B

15. SR ARl % fau, ufq =afw s1afer soam oot e fohat § 2
(A) 25-50 1 Fe (B) 51 -100 =1 Fe
(C) 101 - 150 a1 Fe (D) 151 - 200 & Fe

16. TH THX o SHH-HEH AN 9 Fagferal TeH & € ¢

(A) Tadeafadn (B) YER (C) ¥RURHEH (D) &

17. Tt off g9 & oT=eX aTq9H T iR a1y i i 1 T e e 9o § 2
(A) TR deieivH (B) wHH I
(C) IiTg e (D) TR eI (SIdTehe)

18. Aferhaw =M apar fifera o | fohg 1 €2

(A) ST TfEhay (B) el diféehery
(C) TS (D) THIYS
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19.

20.

21.

22.

23.

24.

25.

Paris green is used as

(A) Larvicide (B) Residual spray

(C) Space spray (D) Genetic control

Scabies is caused by
(A) Houseflies (B) Hard tick

(C) Louse (D) Itch mite

Down'’s syndrome occurs in babies of mothers with
(A) pregancy in early age

(B) pregancy in older age

(C) Polycystic ovary

(D) Short stature

India’s population become 1 billion on
(A) 11 may 1998 (B) 11 may 1999

(C) 11 may 2000 (D) 11 may 2001

In 2001 census the literacy rate of India was

(A) 28.30% (B) 43.57% (C) 65.38%

The minimum number of antenatal visits are

(A) 3 (B) 6 © 9

Exclusive breast feeding is advocated up to
(A) Two months (B) Four months

(C) six months (D) Eight months

J—8109 8
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19.

20.

21.

22,

23.

24.

25.

URE-17 i fore &9 H ST foman a1 & 2

(A) Terweh =it (B) sTEfvE &

Q) wWHH (D) Sifae fra=m

Tha e fore o BRI BN T 2

(A) el (B) wEfeh

© ™ (D) ¥ e (el Fewh)

3 Aranstl o Rrggsti 6 ‘e g faem ! g 7 ek
(A) BRI Y H THYR (B) Sl 3T ¥ MHURT
(C) Tdrciitafes el (D) Bl %e

IR 1 SEE fhe fa e faferm (ewa) 882
(A) 11 58 1998 (B) 11 Hg 1999

(C) 11 Hg 2000 (D) 11 ®§ 2001

SUMT 2001 o STTHR WRA i W&l <X fohat off :

(A) 28.30% (B) 43.57% (C) 65.38%

T4 yHa S i <A HE& fhat § 2

(A) 3 (B) 6 © 9

3= T UM el qoh Sl S © ¢

(A) & HfeA (B) =R Hfed (C) ®:ufea
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26.

27.

28.

29.

30.

31.

Question number 26 to 33 consists of two paired statements, one Labelled (Assertion
(A) and other Reason (R). You have to examine the two statements carefully and decide
if the Assertion (A ) and the reason (R) are individually true and whether the reason is
a correct explanation of the Assertion. Select your answer using the code given below
and mark your answer accordingly.

Code :
(
(
(
(
Assertion

Reason

Assertion

Reason

Assertion

Reason

Assertion

Reason

Assertion

Reason

Assertion

Reason

J—8109

A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true but (R) in not correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

(A) : Midday meal programme is covered under ministry of education

(R) : Most of the students can not bring midday meal from home

(A) :In catrast there is reduced transparancy of lens.

(R) : In old age there are pathological changes in most of the body systems.

(A) : Coronary heart disease appears a decode earlier in India as compaired
to developed countries

(R) : Smoking is less common in females in india

(A) : Fruits can be eaten raw and fresh

(R) :This makes vitamins and minerals present in fruit easly available

(A) : Ultimate aim of communication is to bring about changes in behaviour.

(R) : Alcoholisum can be reduced by proper communication with people.

(A) : Cancer cervise is rare in nuns

(R) : Cerrical cancer is related to coitus and childbirths

10



26.

27.

28.

29.

30.

31.

U7 QAT 26 @ 33 Tk H & w7 (79 T4 §1 T &I 39T (A) 37 ga¥ & HRIT(R)
T T I AT &1 7 #RE 0 GEl & 3T T #ROT(R), (A) T GE WHHIT 81 e
faa 1St &7 3TFIT FHd §U Wel I T a7 Y |

Hie:

(A) (A) 3R (R) T W& T1 IR (R), (A) T T&I AR T

(B) (A) 3R (R) Tl Tt § W (R), (A) T Tel SIS0 & T
(©) (A) H& & W (R)7Terd |

(D) (A) TTerd € W (R) Tl &

AR (A) : TG WIS T8N T=ATerd & 3Taid oIl |
HIUT (R) : ATerehivr fammedf =) & Sraex =1 ioH =l o 9 €1

afirre (A) :  Tifqenfa | o9 1 IRRIAT 1 HH T
THIOT (R) : Fgrawen | Seehisn sRes aw= § Wmmereh faspfa-sa afiad= o1 |

AR (A) :  9RA H H.T=. h., fanfaa 0 =t ga § T <9 76 Johe B 7 |
IO (R) : NG H fori & o uue w9 9H )

APUHIT (A) : el ol el UG TSl @7 ST Fehell T |

THIOT (R) : S99 Al | Sufeerq foerfam ik @it star @ Suas 2 € |

ATIRIT (A) : TR I Id: Ted deR H qRed" o 2|

THIUT (R) : HEHEH 1 AN o Y Sferd 901 gR1 A e <1 Hehal 1

Afirerer (A) : U @ FW FAEE H foia 71
THIT (R) : TR & $H Hized IR g1 & 9 § Tafgd 7|
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32. Assertion (A) : Goitre is prevalent at high altitude

Reason

(R) : Iodized salt is not freely available in high altitude area.

33. Assertion (A) : Tobacco causes for more deaths than all other psychoactive substances

combined.

Reason

(R) : Tobacco is in legal use everywhere in the world

Question 34 - 40 are matching item.This consists of two lists of statements,term or
symbols and the candidate has to match an item in one list with an item in the

other :

34. List - I
Minerals

( Calcium

( Iron

(¢) lodine

(

d) Fluorine

Codes

(@ ) (o @)
A) O @) @) @)
B G O Gv) i)
© (v Gi) @ 0
(D) Gi) Gv) @) ()

35. List - I

Sereening test for
(a) Glancoma
(b) HIV
(c) Diabetes Mallitus
(d) Hypothyroidisim
Codes :

@@ () (o) (d)
A) Gv) @ @) @)
B i) @ 0 @)
© G O Gv) i)
D) () @) (@) @)

J—8109

(@)

(i)
(ii)
(iv)

)

(i)
(iif)
(iv)

List - II
Sources
Spinach

Butter milk
Drinking water

Sea foods

List - II
Age / Group
Pregnancy
Infancy
Middle age
Elderly

12



32. USRI (A) : TToHiS ek e o TH R yEfad B

T (R) : STETEA | Uidfshan I THeh ST Y S9TE o &5 H -l o STy e

T

33. 3feRed (A) @ T Ol AR werelf St g R o SRR AR SATeT §eg B © |

T (R) : fova § wa STE e T B STAN B 7 |

U7 & 34 @ 40 T T G-I GATord & qTeil 96l @ &1 399 &A1, gl 3K getant
1 g gierer &1 37572l @t Geit-1 4 1 7 7e @i GEi-11 8 31 1F e & [rey gAferd &

Fl
34. T - 1

(@f=t)
(a) Shetferm
(b) @
(c) emEIfed
(d) IR
HIS:

(@ M) () (@
(A) (@) (@) () (iv)
(B) () @) (v) (i)
Q) (v) (@) @) @
(D) () (@v) @) ()

35. Tt - 1

(= & fod witt &)
(a) TRl
(b) TR
(c) S Helled (FYHR)
(d) TEIURREeH
FHIS:

@@ (b) (9 (d)
(A) (@v) @O @) ()

(B) @) G @ )
© @) @ Gv) (i)
(D) @ @D @) Gv)

- 11
(&)
EINED

X fHesh
T Sa

T @ e

- 11
(3 /)
()  TERT
IR INEEI]
(i) HEA g
(iv) =T&h
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36. List - I
(Disease)
(a) Chicken pox
(b) Measles
(c) Rubella

(d) Influenza

Codes :

(@ () (o)
@ G @ ()
® (i) @) @)
© @ @ )
D) () (i) (i)

37. List -1

(Years)

@) 1971
(b) 1981
() 1991
(d) 2001
Codes :
(@) () (o)

(d)
(iv)

(i)
(i)

(i)
(i
(iif)
(iv)

List - II
(Incubation period)
10days

7 -21 days

18-72 hours

2 - 3 weeks

List - II

(Femals / 1000 males)
930

934

927

933

14



36. g - 1

(T)

(a) TSI A
(b) @&

(c) T

(d)  ERLS
His:

(@ () (o
(A) @ @) (i)
(B) (D) (iv) (@)
© @ @ @)
(D) (iv) (i) (i)

37. T - 1

(=)
(a) 1971
(b) 1981
(©) 1991
d) 2001
Codes :

(@) () (o
(A) @ @) (i)
(B) () (i) (iv)
(© (i) (v) ()
(D) (v) @ @)

- 11
(SR (G T )

() 10 feA

i) 7 -21feA

(i) 18-72 &=

(iv) 2-3TH
(d)
(iv)
(i)
(iif)
(i)
- 11
(T ufa 1000 g&w)
i 930
(i) 934
(iii)y 927
(iv) 933
(d)
(iv)
(i)
(1)
(iif)
15
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38. List - I List - II

(Level of prevention) (Example test)
(a) Primordial (i)  Screening test
(b) Primary (i) Immunization
(c) Secondary (iii) Exercise in children
(d) Tertiary (iv) Limit disability
Codes :
(@ (b () (@
(A) @ @) @) (@)
(B) @) () @v) (@)
(© G @ @ (@)
(D) Gv) (D) () ()
39. List - I List - II
(Type of dust) (Disease caused)
(a) Coal dust (i)  Byssinosis
(b) Iron (i) Bagassosis
(c) Care fibre (iii) Siderosis
(d) Cotton dust (iv) Antnracosis
Codes :
(@ @B (©© @
(A) @) () @v) (@)
(B) @) @Gv) @ (D)
© @O @ @) (@)
(D) @v) (D) @) ()
40. List - I List - II
(Cancer) (Risk factor)
(a) Oral (i) Genital warts
(b) Cervix (i) High fat diet
(c) Breast (iii) Tobacco chewing
(d) Lung (iv) Air pollution
Codes :
(@ B (© (@
(A) @) @ G ()
(B) Gv) () @) (@)
© @) @) @ ()
(D) @) (@) @) ()
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38. et - 1 - 11

o

(SN T W) (ScTEuT)
(a)  ATfCERTAT () ERIHT T
(b) wafts (i) Ffceaftenta
(c) Ted=h (iii) S gNT SATA™
(d) TdEH (iv) HifHd e
HE:
(@ @) (© @
(A) @ @) @) (Qv)
(B) G () (v) (D)
Q) @) @) @ ()
(D) (v) (i) @) @)
39. A - 1 - 11
(2I[) (3E9 39T M)
(a) I T () fodtag
(b) &= (i) ST
(c) T X H A (i) HESUEH
(d) HUH H TP (iv) TeuTRifad
Fie:
(@ @) (© @
(A) @) () (@v) (D)
(B) @) (v) (@) (i)
© @ (@) @) ()
(D) (v) () @) ()
40. -1 - 11
(&) ( @AY HT HH )
(a) Y@ =t () ST HE
(b) TIHEE qG (i) S 91 SR
(c) =& (i) IR <
(d) wEE (iv) =T g
FieS:
(@ @) (© @
(A) @) @@ G) ()
(B) (v) (i) (i) (i)
© @ @) @ ()
D) @ @) @) (Gv)
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41. Arrange the following causes of maternal mortality in descending order according to
their frequency of occurrence :

(A) Anaemia,sepsis, Toxemia, Hacmorrhage
(B) Sepsis, Hacmorrhage, Toxemia, Anaemia
(C) Hacmorrhage, Anaemia, Sepsis, Toxemia

(D) Toxemia, Hacmorrhage, Anaemia, Sepsis

42. Arrange the fruits in descending order according to their calorie content per 100 Gm

(A) Papaya,Mango,orange,grapes

(B) Mango,grapes,papaya,orange
(C) Orange,grapes,Papaya,mango
(D) Grapes,orange,mango,Papaya

43. Identify the correct ascending order of below mentioned nutritonial deficiencies in terms
of DALY ( Disability adjusted life year ) loss :

(A) In A dificiency, lodine deficiency, iron deficiency, anaemia, PEM
B) Iodine deficiency, Iron deficiency PEM, Vit. A deficiency
PEM, Iodin, deficiency, iron deficiency, anaemia, Vit. A deficiency

Iron deficiency, anaemia, PEM, lodine deficiency, Vit. A deficiency

44. Identify the correct decending order of below mentioned countries in relation to their
Mentioned mortality ratios
(A) India, Srilanka, Nepal, Bangladesh
(B) Srilanka, Nepal, Bangladesh, India
(C) Bangladesh, Srilanka, Nepal, India
(D) Nepal, India, Bangladesh, Srilanka

45. Arrange below mentioned states in correct descending order according to prevalence
of Leprosy :

(A) Maharashtra, UP, Karnataka, West Bengal
(B) UP, Maharashtra, West Bengal, Karnataka
(C) West Bengal, UP, Karnataka, Maharashtra
(D) UP, Karnataka, West Bengal, Maharashtra
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41.

42.

43.

44.

45.

g g & frAifehd HRON Sl 3k Hfed BF 1 TG & STIER el % H =afed
HifT

(A)  orifEn, qufed (vare), feafasn (faursd), TR (76 @)

(B) Hufgd, TS, famafnen, swiftan

(C) TS, srifhan, qufew, et

(D) <fodthe, AL, oifheT, dufad

FreAifoRa el bl S8 9fd 100 TTH helikt |1 o STTIR SToRie! shA § SHafeerd iy :
(A) Ui, 37, ¥, SR

(B) 1M, 3R, qdId], ¥=<11

(C) E=I0, SR, qUrdl, 3TH

(D) TR, |=, 3TH, qdia1

QT (feafafae! teafces AR $9R) T & g | = & T8 Huiors Sl &
WWWW

(A) foarfim-A &, STEER wH, oie ot S st @i
(B) oTRifen wHl, Tiie et orifhan, .3 um. foerfim-u &t
(C) WE.Tun. stEfed &, <iie e, stifian, forrfia-u et
(D) e &t oFifien, wiww, smehfed &, faerfim-u &,

Freifera <91 o1 Sk @18l U9 T AUl o Ty H TE Al oy oary
(A) IR, dicieh], T, SRSl
(B)  itciehl, YUTE, SR, MR
(C) TR, Hicieh], TUTA, WA
(

D) A, YRd, STres, dicient

Freifend TS o1 B T 1 SATHAT o STIHR T SToRIGN 3 H SHATEd HiTT
(A) TRNE, .9, Hlem, T.amd

(B) .., HERIY, 4.9, FHAieh
(C) 9.3, 3. K., FHleah, TR,
(D) L., hleeh, T, HERIY
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46.

47.

Read the passage below,and answer the five 5 questions that follow on your
understanding of the passage :

In India skilled Birth Attendants conducted Only 42.3% of deliveries in 1998 - 99
(NFHS II) Compared to the preceding five years, this rate had increased by 8 percent
largely due to a 50% increase in the coverage by doctors in the private sector. As
expected,skilled attendance rates are low in rural areas among the poor and among
illiterate women. In 1998 - 99, Only 33.6% of births occurred in health facilities /
institutions. The increase from 25.5% rate estimated in 1992 - 93 (NFHS - I) was
essentially due to an increase in deliveries in private institution from 10.9 to 16.7%
There was a negligible increase in deliveries in Govt institutions Almost 75% of deliveries
in rural areas continue to occur at home,and over 80% of births among illiterate women
or those with a low standard of living index took place at home in 1998 - 99. The
distribution of skilled attendance and institutional deliveries by states reveals an inverse
relationship with NMR (State of India’s New born,2004 ).

The sex ratio at birth in India is 933 females for 1000 males, a serious gender
distortion with profound demographic, health and social Implications. India ranked
102 nd in the world by the gender related development index (G.D.I)The female
economic activity rate (age 15 and above ) is 42.2%, Which is half of the male rate. of
women in 15 - 49 age group only 50.8% are literate. the median age at marriage among
20 - 49 years old women surveyed in NFHS - II was just 16.7 years. The median age at
first birth among 25 - 29 years old women surveyed was 19.6 years. N M R in mothers
under 20 years of age at delivery (63 per 1000 live births ) was one and a half times that
of mothers who were 20 - 29 years old (41 per 1000 live births).

Birth spacing reduces the risk of neonatal mortality. NFHS -II data shows that NMR
was 50% less if the birth interval was 2 - 4 years compared to that if the interval was
less than two years (36 and 71 per 1000 live births, respectively).

The sex ratio per 1000 males at Birth in india is
(A) 977 Females (B) 965 Females
(C) 945 Females (D) 933 Females

The median age at first birth among 25.29 year old women surveyed as per NFHS II
was

(A) 20 years (B) 15 years
(C) 18 years (D) 16.7 year
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46.

47.

feTfera afi=sq ufew ot ufiedq & & ¥ 37+ GHeT & AT 4 T arer ( 5) g9t
T 37T G -

AR H, A 4 TRARBBT (TE) 7 1998-99 (TH.UH.TA.TA-11)H Tk 42.3% 98
A | TUsel g a6l wi gor §, 39 X ¥ 8 Ufavd § gfg g, 9% gea: st & § SeRd &t
A (FAS) | 50 s i gfeg o HRO1EE ¢ | 541 foh oTifard B, Forer afia=t ot 8 ario
gl # e W fRer fordi & o= f1=1 €

TR TA.TH 11 % 3TIER, 1998-99 H ot 33.6% S Tomeer gagnsii/deensi # gu|
TLUETATE. 1 (1992-93) § STFAIA 25.5 Ufawd X § gl sAfrerid: =i geensti § w0
el ® 10.9 ¥ 16.7 Ffae ¥ ghg o HRO1 ot | AR TeA1ed § qHell § gig Tog off | g
&l H HAF-He 75 Ufavrd gHa oFe ot TR W & A 9 €, iR frer feri a1 =9 far,
a1 Sftem fate Yaehieh 11 TR &1 §, o o9 80 I § ST S 1998-99 H ¥} W gT
& | T gRI FIT Iiara ST Tieenfeh YHa o faaRur UH.TH.3TR. o We Yl T W
AT T (R o Taemdl s fefd, 2004)

IRd | 5 R el ST 1000 T&ui & ferw 933 foaai &1 g SHifhahia, e, 9
greTfies Tl e ffeanelf & T iR e foskfa <oia €1 fon wafga fasmm e
% IER IRA o1 WF fava § 102 af §1 Afgen enfdfs nfafafy x (smg 15 iR s1fer)
42.2% T, S foh &9 <X T eM & 115 - 49 T4 F I g § Afgensii &1 fak 50.8% @
HIER T | TH.UH.TA.TH-11 §R FA&T01 Y TG, 20 - 49 6 i T i Afgenedi & foamg & v
R fraad (Hifeam) g u 16.7 a9 off | FeleT1 i 7T 25 - 29 TH i A i Afgensii & =
oW 9= o o & 999 W 3fa (Hifead) 8y 19.6 a9 oft | wHE % w9I W, 20 99 § &
3T ! A H TA.TH. 3R (Ufd 1000 SHfad S 5=l W 63), 20 - 29 I i 3T i AT
(9fd 1000 Sifad S &= W 41)¥ S AT AT

S ST FoSd o T S HH Il § 1 TL.U%. TA.TH-11 & STidhs g9 ¢ fh
g S TR 2-4 8 1 o1 Al TL.TH.SIR 50 Ffaerd A o, 59 foh g8t g |, afe s
I 2 I ¥ HH o O TH.UH.SAR. 31 e (ufa 1000 Shifadq S =i W HHS: 36 SR
71) 1

IRd H 99 % T W Ufd 1000 &9 e s1um = % -
A) 977 fe=i (B) 965 feri
(C) 945 fer=i (D) 933 fer=i

T.UR.TE.TE. 11 & T AR 25-29 T4 ot 3T i Feri o oid Jom o= o S | iwd
(Hifea) o1y = off -

(A) 20 a4 (B) 15 @d
(C) 1879 (D) 167 =¥
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48. As per NFHS II NMR was 50% if the birth interval was
(A) Less than 2 years (B) Less than 1 years

(C) 6 years (D) 2to 4 years

49. The literacy rate in 15 - 49 years age group is
(A) 42.2% (B) 25.5% (C) 75% (D) 50.8%

50. The percentage of home deliveries in rural area are

(A) 60% (B) 70% (C) 75% (D) 63%

-00o0-
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48. TA.UH.TH.TH. I % STIUR TH.UH.AR fohdd S ST=0al W 50% o :
(A) 299§ ®H (B) 199 ®H
(C) 6= (D) 2-4 99

49. 15-49 99 % A T H WERAT W T :

(A) 42.2% (B) 25.5% (C) 75% (D) 50.8%

50. UHIOT &5 H SR W HUT gHa 1 Giq9rd fha @

(A) 60% (B) 70% (C) 75% (D) 63%

-00o0-
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